C:# Multiplication Word Problems Name:

Solve each problem. Answers
1) Larry'sLawn Care charges thirty-one bucks to mow acustomer's lawn for ayear. If they
have eighty-six customers how much money will they make? 1
2.

2) Ned was helping his mom plant vegetables in the garden. Together they planted ninety-six
rows of vegetables with seventy-seven seeds in each row. How many seeds did they plant
total ? 3.

3) Biancawas practicing drawing super heroes. Each day she drew ninety-one pictures. How || 4.
many pictures would she have drawn after eighty-eight days?

5.
4) An orchard owner was counting the number of apples he had total. Each of his ninety-
three trees had fifty applesin it. How many apples did he have total ? 6.
7.
5) Adam was placing his spare change into stacks. Each stack had seventy-six coins. If he
had seventy-three stacks, how many coins did he have all together?
8.

6) A teacher had seventy-one students in her classes. If each student completed eighty-three || o.
problems, how many problems would she have to grade?

10.

7) A laundry mat owner washed seventy-one loads of towels with eighty-six towelsin each
load. How many towels did he wash total ? 11.

12.

8) On her MP3 player, Amy had eighty-one different singers with thirty songs from each
singer. How many songs did Amy have total?

9) Vanessawas drawing on scrap paper. She could fit twenty-four drawings on each page. If
she has ninety-three pieces of paper, how many drawings can she make?

10) A library checks out fifteen books each day. How many books would they have checked
out after thirty-five days?

11) A store owner was buying uniforms for his employees. If each of his stores needed forty-
two uniforms and he had eighty-nine stores, how many uniforms would he need?

12) Luke was packing up his old toys. He managed to squeeze seventy-seven toys into a box.
If Luke filled up twenty-three boxes, how many toys did he pack total?
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Ch Multiplication Word Problems Name: Answer Key

Solve each problem. Answers
1) Larry'sLawn Care charges thirty-one bucks to mow acustomer's lawn for ayear. If they
have eighty-six customers how much money will they make? 1 2,666
2. 7,392
2) Ned was helping his mom plant vegetables in the garden. Together they planted ninety-six
rows of vegetables with seventy-seven seeds in each row. How many seeds did they plant
total? 3 8,008
3) Biancawas practicing drawing super heroes. Each day she drew ninety-one pictures. How || 4. 4,650
many pictures would she have drawn after eighty-eight days?
5, 5,548
4) An orchard owner was counting the number of apples he had total. Each of his ninety-
three trees had fifty applesin it. How many apples did he have total ? 6. 5,893
7. 6,106
5) Adam was placing his spare change into stacks. Each stack had seventy-six coins. If he
had seventy-three stacks, how many coins did he have all together?
8. 2,430
6) A teacher had seventy-one studentsin her classes. If each student completed eighty-three || o. 2,232
problems, how many problems would she have to grade?
10. 525
7) A laundry mat owner washed seventy-one loads of towels with eighty-six towelsin each
load. How many towels did he wash total ? 11. 3,738
12 1,771
8) On her MP3 player, Amy had eighty-one different singers with thirty songs from each
singer. How many songs did Amy have total?
9) Vanessawas drawing on scrap paper. She could fit twenty-four drawings on each page. If
she has ninety-three pieces of paper, how many drawings can she make?
10) A library checks out fifteen books each day. How many books would they have checked
out after thirty-five days?
11) A store owner was buying uniforms for his employees. If each of his stores needed forty-
two uniforms and he had eighty-nine stores, how many uniforms would he need?
12) Luke was packing up his old toys. He managed to squeeze seventy-seven toys into a box.
If Luke filled up twenty-three boxes, how many toys did he pack total?
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